
50 borgwarnerboosted.com

F E A T U R E S

230 

310 

370 

420 

460 

490 

521 

561 

uredC = 605 m/s 

0.52 
0.54 

0.56 

0.56 

0.58 

0.58 

0.6 

0.6 

0.62 

0.62 

0.62 

0.64 

0.64 

0.66 

0.66 

0.66 

0.68 

0.68 
0.68 

0.7 

0.7 

0.72 

0.74 

0.76 

0.78 
isC = 0.79 

1.0 

1.4 

1.8 

2.2 

2.6 

3.0 

3.4 

3.8 

4.2 

4.6 

5.0 

1 5 9 13 17 21 25 29 33 37 41 45 49 53 57 61 65 69 73 77 81 85 89 93 97 101 105 109 113 117 121 125 

Extended Tip
Technology

Compressor Wheel

S U P E R - C O R E  F R A M E  D I M E N S I O N S

• Twin hydrodynamic journal bearings
• Extended Tip Technology Compressor Wheel
• Twin Scroll Turbine Housing
• Adjustable compressor and turbine housing orientation
• �Standard turbine inlet and outlet connections
• Compressor cover recirculation grooves		

Super-Core
Comp. 

Wheel O.D. 
(in)

Comp 
Wheel O.D.  

(mm)

Comp 
Wheel 

Inducer 
Dia. (in)

Comp 
Wheel 

Inducer 
Dia. (mm)

Turbine 
Wheel O.D. 

(in)

Turbine
 Wheel

O.D. 
(mm)

Turbine
 Wheel 

Exducer 
(in)

Turbine
 Wheel  

Exducer 
(mm)

Oil outlet 
thread

Service Kit 
(360° thrust 

bearing)

14009097006 3.78 96.00 2.83 72.00 3.44 87.37 3.22 81.74 M8 X 1.25 14007110000

14009097014 3.94 100.00 2.99 76.00 3.44 87.37 3.22 81.74 M10 X 1.5 14007110000

S400SX-E 550 - 1200 HP   Part #’s: �14009097013 &  
14009097014

S400SX-E  500 - 1100 HP   Part #’s: 14009097006

Comp. Wheel Inducer Dia. (mm) 72.00
Comp. Wheel Outer Dia. (mm) 96.00

Comp. Wheel Inducer Dia. (mm) 76.00
Comp. Wheel Outer Dia. (mm) 100.00

Part # A/R Inlet Configuration Notes

178787 0.90
Volute, 

Twin 
Flow

T4 
Inlet

87mm
Turbine
Wheel

178788 1.00

178789 1.10

178790 1.25

230 

310 

370 

421 

461 

491 

521 

561 

uredC = 607 m/s 

0.52 
0.54 

0.54 

0.56 

0.56 

0.58 

0.58 

0.6 

0.6 

0.62 

0.62 

0.64 

0.64 

0.64 

0.66 

0.66 

0.68 

0.68 

0.7 

0.7 

0.72 

0.72 

0.74 

0.76 

0.78 

isC = 0.8 

1.0 

1.4 

1.8 

2.2 

2.6 

3.0 

3.4 

3.8 

4.2 

4.6 

5.0 

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 105 110 115 

Pr
es

su
re

 R
at

io

Pr
es

su
re

 R
at

io

Compressor Flow (lb/min) Compressor Flow (lb/min)

S400SX
14009097006
178781
179175
179179
179184
179352

OIL INLET

OIL OUTLET

1/4-18 NPTF
SEE CHART

Ø 22.23 mm
[.875]

Ø139.95mm
[5.51]

Ø139.95mm
[5.51]

Ø76.2 mm
[3.00]

25.4 mm
[1.00]

25.4 mm
[1.00]

S400SX
14009097006
178781
179175
179179
179184
179352

OIL INLET

OIL OUTLET

1/4-18 NPTF
SEE CHART

Ø 22.23 mm
[.875]

Ø139.95mm
[5.51]

Ø139.95mm
[5.51]

Ø76.2 mm
[3.00]

25.4 mm
[1.00]

25.4 mm
[1.00]

S400SX
14009097006
178781
179175
179179
179184
179352

OIL INLET

OIL OUTLET

1/4-18 NPTF
SEE CHART

Ø 22.23 mm
[.875]

Ø139.95mm
[5.51]

Ø139.95mm
[5.51]

Ø76.2 mm
[3.00]

25.4 mm
[1.00]

25.4 mm
[1.00]

S400SX
14009097006
178781
179175
179179
179184
179352

OIL INLET

OIL OUTLET

1/4-18 NPTF
SEE CHART

Ø 22.23 mm
[.875]

Ø139.95mm
[5.51]

Ø139.95mm
[5.51]

Ø76.2 mm
[3.00]

25.4 mm
[1.00]

25.4 mm
[1.00]

S400SX-E
500 - 1200 HP Turbo

T U R B I N E  H O U S I N G

C O M P R E S S O R  M A P S



51borgwarnerboosted.com

See page 61 for 
speed sensor details

F E A T U R E S

• Twin hydrodynamic journal bearings
• Extended Tip Technology Compressor Wheel
• Twin Scroll Turbine Housing
• Adjustable compressor and turbine housing orientation
• �Standard turbine inlet and outlet connections
• Compressor cover recirculation grooves		

Extended Tip
Technology

Compressor Wheel

Super-Core Comp. Wheel 
O.D. (in)

Comp Wheel 
O.D. 

(mm)

Comp Wheel 
Inducer Dia. 

(in)

Comp Wheel 
Inducer Dia. 

(mm)

Turbine 
Wheel O.D. 

(in)

Turbine
 Wheel

O.D. 
(mm)

Turbine
 Wheel 

Exducer
(in)

Turbine
 Wheel  

Exducer 
(mm)

Service Kit  
(360° thrust 

bearing)

*14009097013 3.94 100.00 2.99 76.00 3.77 95.70 3.47 88.05 14007110003

14009097010 4.33 110.00 3.16 80.30 3.77 95.70 3.47 88.05 14007110003

14009097008 4.33 110.00 3.46 87.93 3.77 95.70 3.47 88.05 14007110003

S U P E R - C O R E  F R A M E  D I M E N S I O N S

S400SX-E  750 - 1575 HP   Part #: 14009097008S400SX-E  650 - 1350 HP   Part #:  14009097010

Comp. Wheel Inducer Dia. (mm) 80.30
Comp. Wheel Outer Dia. (mm) 110.00

Comp. Wheel Inducer Dia. (mm) 87.93
Comp. Wheel Outer Dia. (mm) 110.00

Part # A/R Inlet Configuration Notes

14961019007 1.15
Volute, 

Twin 
Flow

T6 
Inlet

96mm
Turbine
Wheel

171698 1.32

14961016101 1.45

14961016100 1.58

230 

310 

370 

420 

461 

491 

521 

561 

uredC = 604 m/s 

0.48 0.5 
0.52 

0.54 

0.56 

0.58 

0.58 

0.6 

0.6 

0.62 

0.62 

0.64 

0.64 

0.66 

0.66 

0.66 

0.68 

0.68 

0.7 

0.7 

0.72 

0.74 

0.76 

isC = 0.78 

1.0 

1.5 

2.0 

2.5 

3.0 

3.5 

4.0 

4.5 

5.0 

5.5 

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 105 110 115 120 125 130 135 140 

p
2

t/
p

1
t 

[-
] 

0.46 

0.54 
0.56 

230 

310 

370 

421 

460 

491 

521 

563 

uredC = 605 m/s 

0.48 
0.5 

0.52 

0.54 

0.56 

0.56 

0.58 

0.58 
0.6 

0.6 

0.62 

0.62 

0.64 

0.64 

0.66 

0.66 
0.68 

0.7 

0.72 

isC = 0.74 

1.0 

1.4 

1.8 

2.2 

2.6 

3.0 

3.4 

3.8 

4.2 

4.6 

5.0 

0 5 10 15 20 25 30 35 40 45 50 55 60 65 70 75 80 85 90 95 100 105 110 115 120 125 130 135 140 145 150 155 160 165 

0.46 
0.44 

Pr
es

su
re

 R
at

io

Pr
es

su
re

 R
at

io

Compressor Flow (lb/min) Compressor Flow (lb/min)

139.95mm
[5.51]

139.95mm
[5.51]

106.93mm
[4.21]

89.03 mm
[3.51]

20.07mm
[.79]

25.4 mm
[1.00]

25.4 mm
[1.00]

82.55mm C'BORE
[3.25]

6.10mm DEEP
[0.24]

ø

Ø

Ø

Ø

Ø

Ø

OIL INLET

S400SX
14009097008
14009097010
14009097013

OPTIONAL HOSE BEAD CUT HERE

1/4-18 NPTF

2X M10 X 1.5

OIL OUTLET

139.95mm
[5.51]

139.95mm
[5.51]

106.93mm
[4.21]

89.03 mm
[3.51]

20.07mm
[.79]

25.4 mm
[1.00]

25.4 mm
[1.00]

82.55mm C'BORE
[3.25]

6.10mm DEEP
[0.24]

ø

Ø

Ø

Ø

Ø

Ø

OIL INLET

S400SX
14009097008
14009097010
14009097013

OPTIONAL HOSE BEAD CUT HERE

1/4-18 NPTF

2X M10 X 1.5

OIL OUTLET

139.95mm
[5.51]

139.95mm
[5.51]

106.93mm
[4.21]

89.03 mm
[3.51]

20.07mm
[.79]

25.4 mm
[1.00]

25.4 mm
[1.00]

82.55mm C'BORE
[3.25]

6.10mm DEEP
[0.24]

ø

Ø

Ø

Ø

Ø

Ø

OIL INLET

S400SX
14009097008
14009097010
14009097013

OPTIONAL HOSE BEAD CUT HERE

1/4-18 NPTF

2X M10 X 1.5

OIL OUTLET

139.95mm
[5.51]

139.95mm
[5.51]

106.93mm
[4.21]

89.03 mm
[3.51]

20.07mm
[.79]

25.4 mm
[1.00]

25.4 mm
[1.00]

82.55mm C'BORE
[3.25]

6.10mm DEEP
[0.24]

ø

Ø

Ø

Ø

Ø

Ø

OIL INLET

S400SX
14009097008
14009097010
14009097013

OPTIONAL HOSE BEAD CUT HERE

1/4-18 NPTF

2X M10 X 1.5

OIL OUTLET

*�See page 46 for compressor map

S400SX-E
650 - 1575 HP Turbo

T U R B I N E  H O U S I N G

C O M P R E S S O R  M A P S


